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a— ) it 4 SRR PR (kg) e ) e i it pE i (HfiL)
30100 72V 2 A 34 1,042 54 32 11 BN 34K
Y3122 3 = KiR 16 994 65 65 59 BN 164
30300 A% R o 17 1,426 151 65, 65 B 17kg
31100 [%E ’ L 135 3,726 594 216 216 BN 9 —2
31200 [LIHE . 3 324 22 22 22 155
Y3014  AARHE 1 76 11 1 11 BN T
Y3015 74 Lk 2 270 54 54 54 FbN 53k
31700 ¥y~ 120 5,346 540 432 216 BN 12—
31800 \ESAAE 52 7047 49 2 1LBA 2593
31900 hE o 2 324 216 216 216 BN kg
36800 (5o X k9 16 13, 446 918 918 756 P 16kg
34400 | kv k 118 22, 226 216 173 173 BN 118kg
34460 1=k E & 6 4,212 756 756 648 B 6kg
35220 | & M X RHHT, 6 2,376 540 324 324 BN kg
35300 E—2 o 3 972 324 324 324 BN 3kg
35303 RF v TEIALLH 18 5,970 432 270 238 B 18kg
Y3026 Afy7 EZ ALY H (E) 11 4, 860 540 432 378 BN kg
35400 5 E® 13 1,717 162 162 108 B5/ 13kg
35402 AXEH ) 13 13,608 1,404 1,404 756 5N 13kg
36200 FE4hE 18 3,499 194 194 194 B 18kg
36600 7-FNX - B 82 8,208 108 97 97T BN 82kg
Y3030 PFAEAE (%) 6 10, 368 1,728 1,728 1,728 &M 6kg
36700 (ZAiZ< 3 1,571 54/ . 54 38 @ 33
41806 7= A A B _ 75 18,468 1,404 1,296 1,080 [N 15% > b
46108 & MFONEE 59 83,138 486 389 378 BN 1985 2
71010 K% 3,300 33 33 33 @K 1004
721011 A7 L —%j 57, 409 55 50 28 BN 1, 3404
Y5010 SbSix (#) 11 5,611 540 497 486 5N 11kg
30100 72V Z A L 120 20,736 1,728 1,728 1,728 FEW 1247 — %
30100 722 A L 20 2,160 130 108 108 FEVE iy 20K
30100 75UV T A B 30 594 324 324 108 EWE 34 —=%
30300 A% L ] 50 10,260 2,052 2,052 2, 052 BEVAES, 54 —%
31100 [13 165 6, 966 756 594 594 R 11— %
31200 | ILHHE 4 497 54 22 22 EIRE  208%
33810 R 4 1,296 1,296 1,296 1,296 FEUEE 1 —2
- 33810  FHEE 4 o864 43 430 A3 EWE 208
Y5005 4 AEA 10 3,132 1,566 1,566 1,566 Ay 24 —x%
31700 ¥ v~ 230 5,670 540 238 238 FEVL B 234 — 2
31800 F D ALAEL 6 1,458 49 49 49 1@ 304%
31950 (X 21 7,992 1,296 1,080 1,080 FEJE T4 — A
31900 X M A 5 3,240 324 324 324 FERES 103 (500g) |
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ah gy 5 il 44 g s
a— R i 4 P (kg) ER ) P i il FE (A7)
32800 45 5 2,700 54 54 54 EME 50K
34300 74 2L 20 6,912 1,728 1,728 1, 728 HEA 44— R
34400 k= b 20 3,078 648 594 594 HEA 54 — X
34400 b~k | 7 28 3,672 648 432 432 WL T — A
34400 | k= b n L 12 5184 1,728 1,728 1,728 FEWE 34 —=x
34100 #K 90 23,328 1,944 1,188 756 JEJ S 184 — %
34200 {5 /IK 10 2,376 2,376 2,376 2,376 =2 —— 17— 2R
N TR
34500 bE—~u 6 6, 480 108 108 108 FEVL 60%%
34571 X7V (R) 2 3, 240 216 216 216§ [E 154
36600 -EREX LK 140 13,608 1,944 1,944 1,944 i Th—2
37200 Lk 92 2L 4 2,268 2,268 2,268 2,268 fi[H 14— %
33400 L& & 12 2, 160 1, 080 1, 080 1, 080 I 24— R
33400 L& A 6 1, 685 140 140 140 F gy 124
33420 7V —2 VY —TLHZ R L 1, 080 1, 080 1, 080 1, 080 & i 1 — A
33600 <Y - : - 0 216 108 108 108 fE% 21%
33300 Fmymy— o 6 2,106 140 140 140 FW§ 15{
38100 AL W/=if 5 3, 564 756 756 648 IR 54— A
31310 A3 4 1,296 65 65 65 1 i 2048
31500 /a3 16 3, 456 43 43 43 BEVLES 80%%¥
37560 #3351 1 2,430 486 486 486 K5y 58 u Y
38100 2O X ’ 15 L9622 12 12 EWRE 15048
38521 S Lo UH 3 972 32 32 32 i 3048
38604 T XTI 2,722 49 49 39 Ry 6048
40100 FrinA S 10 7,236 7,236 7,236 2,160 £ 14— 2
42000 D AT ” 50 8,100 2,376 1,620 1,620 ##% 57 —%
42320 VaFo— K 10 4,860 4,860 4,860 4,860 HEHE 14 —%
49300 X 47—y 5 3,456 3,456 3,456 3,456 fEiH 14— %
At 1,998 466,750 | |




